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This is not a part of AC generator
&H1LD SHSH600TL_ UM MIETT 6TFH| AC
LBI60TeoTILIMMIUT 60T LIMS&HLD BV eD ?

(M) Field magnet
Ljevu & SIMbhS LD
(B) A rmature
SHLDEV S (b 6IT

(C) Brushes
SMTletr &H S 6T

(D) Split rings
LTNerTeyr] 621600 6T TS 61T

C

D

Revolution of earth around the sun is an example of

LLLO) & luiemestd Gl 61 (b Gl 6THM G
2 _SITJ600TLD?

(A) Uniform circular motion
Fgmeor eIl L QU 1551LD

(B) Non-uniform circular motion

Fgm el L @ulssLD

(C) Translatory motion

CrhrI&EGCasI (B QuiISSLD

(D) Vibratory motion
Sllg UL @U1SSLD




15

The process in which liquid is converted into vapour
is called

SHlTULIQILIIT U6 61T eUMuIGILIT (K 6T S LOMmILD
@pemnm

(A) Solidification

S L1GILIT (6 61TIT & (& S 6L

(B) Melting

2 (bS5
(C) Boiling
QEMTHIS H6L

(D) None of these
EeummleL eJ&HILDIcLsHIGL

22

The Number of neutrons present in -N!%is ...
sN14 60 2 _ermert BILL L [JITedT&HerTI6or
6T6B0T600TI SH60Y S

(A7

(B) 8

(C) 14

(D) None of these
SeummilevL eJHILDIcLEBIGL
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is used in seeding clouds.
CLo&5Eled geHNIHESE
LWITURSSULGBOUS ...

(A) Potassium iodide
QurLLmré&wid

(B) Calcium carbonate
STLHIWILD STTUGCeTL

(C) Sulphurdioxide
FhHHS ML Y, Hemero(p

(D) Ammonium phosphate
IIGmesflwid ureroGuL

48

An intestinal infection in mammals caused by an
adult tapeworm is called as

<06 WHTHS BITL_MLILI(LD CLOEVLDTS
LITEVITL_ g S&H6rMeL yMmuU(BLD BHL_6L Gl mI
DD S HLILI(BEUT] ..o,

(A) Ascarisis
SlerVSMIWImenSieny

(B) Syphilis

(C) Taeniasis

le 6oTILLITerSleru

(D) Filariasis
et LIGeuflumenSlieru
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Hypothyroidism in children causes

@heng seflcd
e LICLITenG LG 6rold SITJEILOTS

(A) Grave's disease

& CreMesr Cpmul

(B) goitre
(6T H(PSH G| BLHEMEV (SMUILTT)

(C) cretinism

Sl 1q ofl&FLD

(D) myxoedema

LH&erdlig Lom

62

Which district is having the least population density
in Tamilnadu?

SLOPBHITL 1960 GHEDMhS LDESH6IT QGTeNS
SIL &S Q&T6EL LDTeULL_LD 6T5)?

(A) The Nilgiris

Heo&if)

(B) Peramblur
Quibuey

(C) Sivaganga
Sleusrims

(D) None of these
Beummieb ggILhleLemev
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Part of the Indian Constitution consists of
Directive Principles of State Policy.

Lorhlev Siye QsmeTsnsuienesr
QBMILUGSSID CaHTLu(B &6, @b
SITHUIEOEDLOLILTIEDT ..o
LUGSHUNL L IbQLIHm)erTerTénT.

A1

(B) 11T

€)1V

D)V

10

125

The head of Panchayat Union is named as
in Tamil Nadu.

SHLOLDHTL 1960 LIEhFMLIS S W) cuTlLLievilest
J5T1 T 1y S 67601 SIMLDSHSL]

(A) Chairman

Gy 6ot

(B) Panchayat President
LIEpEMLIS G| &6m6V6(T

(C) Mayor
GLowly

(D) Vice-President of Panchayat
LIERE MILIS H60T &|606T0T8 &6MeV6(T
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138

If Rs 5,000 is borrowed at half-yearly compounded
interest rate of 6 % per annum, then the repayment
after one year will be .........

e . 5., 000 QFMENSHIITETH UBLSHDHGS 6
% 61607 6UL"1g. &2 & Feb
SHEMJUIT6I0TIG MG SEnSHSLLILHLD

Fal (FeuLl1gufeb QUMLILL L TEL , §2(h
QUL LD S5 5] IBE{HLD QF6n|SSiLD
QABTENS ..........

(A) 5309
(B) 5300
(C) 5600

(D) None of these

@eummied e7gLol6LsmeL




